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Class XI Maths Assignment Chapter 3 (Trigonometric Functions)

1. If tanx =Kk, find the value of : :D:xx + :icz

2. Provethat cos®x + cos?(Z+x) — cosx cos (Z+x) is independent of x.
3. Ifsin & = 3sin(f + 2a) then prove thattan(8 + a) + 2 tana =0
4. Solve the following equations:

(i) sin x = sin 5x

(i)  secxcos5x+1 =0 for 0<x<=,

(iii) 5cos?x + 7 sin?2x - 6 = 0.
(iv) tanx+tan 2x +/3tanx tan2x = /3
(v) 2 sin2x = 3 cos X.

5. Prove the following:
(1) tan x + tan(Z+x) + tan (Z+ x) = 3 tan 3x
(ii)  sin 5x =5 sinx - 20 sin3x + 16 sin®x.

(iii)  cos®x+ cos? (FT+Xx) + cos3(F-X) = Zcossw.

(iV) cosx tan (§_ ::I

1-sinzx B
6. If tan ; = % prove that msinx + ncosx= n
7.1f sinx + siny=aand cos x + cosy =b then find
(i) sin (x+y) (ii) cos (x+y)

8.If a+b = /2, then find the minimum and maximum value of sin asin b .

Sinx COEX ,
9.1f == then prove that asin2x + becos2x = b

fir]

10.1f 2 cosy = x —;’—r then prove that cos 3y == (x® + ;’—Ej
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